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1. Answer the following questions : 1x12=12
Aeox erpIed Ted G

Fill in the blanks :
AR 2R AT -
‘(@) ‘Assam Secondéry Education Act; was passed in
“SpT MRS P iz —— e o w4 gt |
(b) The name of the first open university in India is —.

Sreed 499 Y& R T —— |

(c) International Women Day is observed on —.

B oS WiRe T —— @ifse) <o 91 20 |

(d) According to Thorndike, “learning is a bond between ——
and response”.

TR o, oI T/ —— R AfSfEFmm o 7=

(e) Mental hygiene has three aspects——preventlve curative

and —.
TP IR A e se—adfemes, dRerEs ¢

(/ In assumed mean method, AM is the —— of any class
interval.

TS TS & AM =4 (Il eI SRR —— |

Give short answer in one sentence :

a6 I TFRre Teg e

(g9 Which Education Commission suggested the 10+2+3
structure of education?

@ s SR e 10+2+3 2o =i ficafee 2

(h) Who introduced the concept of ‘population educatlon’?
RN R AR 2R AR ? .
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() Which method of learning establishes bond between
natural tendency and artificial stimulus?

e @ 1afS TeRe 2ol «3R IR SR woo T Trm
R ?

() Why is recognition easier than recall?
T (O AONOW] (T HZS ?
(k) “We attend to a small stain on a white wall.” Why?
*qpfb AW Crae qF{o (=B W WAl A 72 17 @7 IR P2
() Write the formula for ﬁndmg out median from group data.

ﬂ{fi—aﬁaﬁwﬁq‘mqmﬁ@zw

2. What is ‘Operation Blackboard'? 2
e Aears” {7 :

3. What does it mean by ‘vocationalization of education’ 2

‘Prer IR 0o T QRI?

4. Write a brief note on ‘Assam Higher Secondary Education
Council’. 2

. o Sl S P e -aR e 3l TR i e |

5. What is ‘Distance Education’? - : 2
‘rm PR f

6. Differentiate between over-learning and relearning. 2
IRS-Frmet @ SRR T AN oIS |
Or/ <%l

Distinguish between ‘trial and error’ and ‘insightful learning’.
“Co[CHBl 8 T YR TE{RTerE PR’ -aq Wy LSy orne |

7. What is span of memory? . ity : 2

= ~ffRe 97
8. “Forgetting is a blessing.” Explain. 2

‘RS G0 W 1”7 0 ¢
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10.

11.

12.

13.

14.

15.

16.

17.

18.
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What is transitory interest? Give an example. 1+1=2

HRR wZ 7 96 Swrge wre |

Write the concept of mental hygiene.
TR TR qRenfs @t i

Mention two measures that a school can adopt to prevent
mental health problems, '
WWW@T&WWW?@WW@W@W
TeEy el |

Write two differences between polygon and histogram.
IRGE 8 SRSCTHCE Fee A1 K6 A1FT e |

What is mode? In a distribution, M = 35 and Mdn 43, find out

2

mode. 1+1=2

I B 7 G Reecma M = 35 @ Mdn =43, Iz o1 e |

Mention four major problems of secondary education in Assam.

| SPIC TRE BreeR TR 4 S R S 3 |

What are the suggestions made by the Kothari Comm.tssmn to
relate productivity with education?

WW%QWW%@WWWWW@
sl § F o

What is the importance of environmental education? Explain.

ﬂﬁ@ﬁfﬁﬁﬁ@vzﬁvwmu

Describe four measures for providing physical education in
school.

Resterca R Rt emiea SRS IvER <9641 6T |

Distinguish between learning and maturation.

B @ «iffvieom o 9= “NET oS |

4
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19. Mention four characteristics of

(5)

good memory.

4
ST i vRfG G Sy v |
Or/ <211
Discuss about four subjective causes of forgetting,
Refen omfb oS et sorcet e =y |
20. Explain the relationship between attention and interest. 4
HCATTI 8 AT e A AT I I |
21. Mention four characteristics of a mentally healthy person. 4
PG AAPRPSICT & AR bl CafiEs Srad e |
22. What is frequency distribution table? Discuss. 4
RIR! [Kerem wiferet 2 i v |
23. Draw a pie-diagram from the following data : 4 -
NI B (AT 4 TSHa =g et
Class - No. of Students
ool RIS T3
Class—I 35
Class—II 40
Class—III 25
Class—IV _ 20
Total - N=120
G =
Or/ =331
Represent the following data by bar-diagram :
eod SAPTR ooy AR Borgle o :
Class No. of Boyzz No. of Girls
i CRCTH TR CNCHA 330
Class—I 24 36
Class=II 28 16
Class—III 38 24
Class—IV 40 26
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25.

26.

27.
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What is non-formal "educatic’)r;? Discuss about its
characteristics. 2+4=6

TSR Bl 1 2« CREPRR Sicemo 3eq |

What do you mean by value education? What measures can we
adopt for imparting value education in school? . 2+4=6

Waﬁwmgﬁ%m?mwﬁmﬁm'wﬁmmm
%%wﬁqmﬂﬁ? _ |

What are the ‘primary laws of learning? Discuss. about the
educational significance of any one of these laws of learning. 3+3=6

(Fre) cram anxfie Sifomz § N2 (Frs) CRIE @R =g @ @
47 1T WIReRf SreEs e | 4

Find out quartile deviation from the following' distribution
table : = |

6
eoa Rerem i cee vpsfs Rpfs fefs wa -
Class Interval Frequency

1T ST NGO
50-54 4
4549 2
40-44 6
35-39 8
30-34 2
2529 6
20-24 4
15-19 4
- 10-14 4
N=40
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(7))
For Blind Candidates dnly
(o R TE-TAR )

(In lieu of Question Nos. 1(f), 1(), 12, 13, 22, 23 and 27)

(errEa 1(f), 1Y), 12, 13, 22,239 27-97 7R3 )

28, Write briefly on (any four) : 5x4=20

ST (@A (G (I WIR(S)

(a) Mention five problems of secondary education in India as
pointed out by the Mudaliar Commission.

WWWWWWWWWWWI

(b) Explain the concept of open education.
o e e’ e |

(c) Describe the objectives of women empowerment.

e SRATACR TP 390 T |

(d) Mention the educative value of ‘trial and error’ method of
learning.

fopmeer “eleotl @ g afea Cifies om T |

(e) Write five objective causes of attention.

TCAIARER 166 Iaf«® TR 1A |

() Discuss about five characteristics of memory.

=feq <ol (e ey SeEw <l |

* %k
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